alternative
+ 24.5, 30, (§9)
(B)375 (C) 38
145,

T T gEy By |

WY - o

(A) ST Fm  (B) R -
(C) B 30 (D) srfrafy e

In the question below, a pair of words is
given, followed by four pairs of words as
alternatives, You are required to choose
the pair in which the words bear the

same relationship.
Apostate : Religion

(A) Jailor : Law

(B) Teacher ; Education
(C) Traitor : Country
(D) Potentate ; Kingdom

146. THFDE : VIHFG : : BOURN : (7)
(A) DQWTP (B) CPWSP
(C) DPWSP (D) CQWTP

147. o smsfa 3 R Ay & 2

How many triangles are there in the

following figure ?

(A)30 (B)26
148. F&T %71 F17 @1

(C) 28

Which one set of letters

given letter series shall complete it ?
M NO_MNN P NO.PM OP

(A) MPMONOP (B) MPONONM (A) 12km (B) 6km
~ (©) MPOMONp (D) MPMOONP (C) 25km (D) 16 km
: -;2 i ‘”‘""“"‘\'"‘“IMnMn:m"wmnfr-'a-rwrmc':-w\w‘.n\-.wwp.m.-m\.\M\m.-l-m\,.\..,\.:ﬁ,“._.‘__‘“N,w_“_.m....I““__,“__‘_.._,.

from
lete the series,
(D) 35.5

M p St p—
Fara » ) T~ fegr oy :
‘_Wfﬂﬁ%mﬁmmh &

W?'W%wm%w%%

D) 24

41 13 78R e o
mnﬁmmﬁﬁqﬁ@miwsﬁw
2

when
Sequentially placed at the gaps in the

given

22

150.

149. 1 fou v o7 ® v B 3 e

ELE
laa"nuam'rfmémm’ﬂﬂ.ﬂﬂﬁrm%
HU i frafeafes wmonst o g
HTH B 3R Fvfa A R o6 N o ry
wod A oAy

T ¢ T 35 A T 5 AR T
gromd ;

11, 9% T SEAHTHTE B £
e % T gl 2 |

(A) Fa 1 A 11 smmfifea 2 |

(B) 3w uron [T siafifEa & |

© R E i R

(D) e 9Ron [ SafifEa s |

In the question below, a statement
followed by two assumptions numbered
I and II is'given. You have to consider
the statement and the _ followin
assumptions and decide which of the
assumption is implicit in the statement :
Statement : One should not sleep under
a tree at night.
Assumptions :

I.  The falling leaves may spoil our
clothes,

II. Tree gives out carbon dioxide at
night which is injurious to health

(A) Neither I nor 11 is implicit,

(B) Only assumption II is implicit.

(C) Either I or II is implicit.

(D) Only assumption I is implicit.

U fer O R e il 3R 10 el srerr e,
fﬁ?{aﬁasm%aﬁteﬁsﬁrm%ﬁsmi
9371 R AR 15 freft srerem #, o et

® 3 6 fonelt = &, R o7 &1 @ 3%
| fopeft T ® | g st ar e fead

w2
(A) 12 foreft (B) 6 e
(D) 16 fpedt

(C) 25 fepft
A person moves from home position
towards east bg 10 km, then turns right

and moves bgl km, again turns right and
moves by | i

moves by 6 km,

A

km, aiam turns right and

then turns left and
moves by 1 km. How far the person is
. from home position ?
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(A) = w5
(C) ejar=y

2 | ai‘-mm-ﬂ?ﬁ!:’
e ] ’“L‘I{:’;“ﬁimﬁnmuvﬁ!ﬁ Simplity - 15
o e Yl e o e ( (AY91
100. W_“"‘W:ﬁuw;n'_ i o A 3 ey |
i Qmwaﬁ"“smiﬁr—n wm b
(B) ﬁ’ﬁﬁwm‘s =T

i AW g (B 255509
P (ff 14057
By&3 ©€1m  myis
T 3231004 409 -
zarto P To+pa—9 A= >0nais =
oy 3V T S Evaluate ; 3
© St o 16+03-3
A e ] ) 174 ) 174274
) o © 1803 m) e
; gt i wrE AT
409 . = . 1 e B9
(D) 7= # Tl ey
102, iﬁrr%i’!mﬂ‘@ﬁ'm. i R
FT

122 ﬁﬁwﬁqﬂt:fnh‘nmw
L e gﬁ:_%ﬁmmnt,mqﬁw
{c
i AR LAY | DCE st 1)

- — (A) HETE (B) A fiod the et pmber "
(A) e arr 20 | T 2 | : (©) A (D) W® @8 s o
(B) % ag et g F 2 | ; oy v R AT R T3 S i) v, i, W i
(C) P 453 8 5o o sreem 2 | { W T e (@) e 952453 % s e fom
(B Sl firet s a5 st | w1 T (€ TR {0y frem
103, 31 1 1 vrdivia S ma o : e by

(A) Tz (B)

(C) famy

=k 2l S e w so0 s
104. I8 A7 wrws &

m‘mdmd‘mdﬁﬁ\m 121,

1004 — 495 4+ 07004 -

15, Fre ) A i e e v 210 VTR B, & e w o e
A : (A) R (B) Wit
Q) e

A sum of money i 1o be digributed

among Abhay, Biom, Chandan snd U'l_vﬁ
() wHhe (D e
L08. & il sirie =1 wvedt Fam & — 3
e Fifsw
(A) Fvsfern (B) gt

in the proportion of § 52 L 4 23,
1f Chandan gers ¥ SD_‘U mare than Divya,
| 116, Freafeien & ‘g e ) ?:\"z"fu'."": gy (8Y 1000
o - e (C] 7 1500 ) ¢ 500
A Lol
E e o S i
; ; f ©
105, T =1 Ha-fw e S w s e (B) g sreti frmr 2 | : —
(4).‘?‘“ [ B (C) T a1 AT AR | o Firsreles are ‘ar) Al \
(D) ¥ (D) Ft et =it 2, w71 2

T 135 7 1 (el o e |
] HHFAT T Wit o 1% ) o T
(A) TR -F=1 (B) FE T |
w1 aEniE T Profofgs 8 (109, STFE S 996 S 4 FE S

Drue o redustion of 61% in the price of

) =T whent, & man s ghie o Ty 1 \:‘g e

(Aj WW@“S&E’EQWE I 118, E‘Zﬁm'{ﬂ'ﬁﬁmm & o v * fnl'i‘;ii.Emmhe original mie of wheat
o ﬂw?aﬂm% It ! f ferg e e Ffifon 8 4 w142 ffw.a ®yes (©9 (B)7
(C) as = Sk 4l 192 v (B za e §

(D) TR AR TR | @ i s 55 ?ﬁ%““mmqﬂ e
BV SRATERE Sﬁ'hﬁﬂ?!l 119, ‘=’ Freeen A 8 el £ 1 Fﬁ-\d the cematnder when 77 s divided
(A) &l g ETTH (&) o ) e G ‘

(B) e - T A (©) w0 W o w2 ”50513“_;@”& 4
(C) @ el =

(1) =t




74.

“HT e
ity o T &
ki TR e 5
::\; Ty | it E T SR 3 T 31y
-.Kv.-;?fﬂ ;g, By tA) te (B) “'3‘11
KYat g e ) 2fivias (C) 4am T
of the It)]?n\w !.icmf Slmene Tt e ithe ,.‘“““E‘D‘::
U Afy A L“‘Jhrrig_q 5 ¥ of which Chandrayiian 3 7 G Tong,
) Turkg“_ L (B) My, HA)| Vigyan (8) Prog
75 . ®) gy (5 Devem ©) Vi
binLics 3 Fomar “nks 9. B A, i 3 s,
2 ; T, A A, o
W Gn?n_g_, 5% arie =t l‘mﬁmmlﬁaﬁ mqh"“'ﬁ
(c 14 frs formi 2 w%ﬁ‘%‘
Thi 13 Jopg fﬁi ; 3w (A) = (8) ¥ R
: 4 STt (C) wEs e
fc’ubmgca::na! Gitl  Chig Day ;im]:cmly, the PrfnL:: 3
(A) [ac Which dya m [ndia ?

inaugurated  Swarved M;,Mh;nmr’ hay

which of the fallow, 5
76, ] Yyt qﬂry (D) 24n January Pradesh ? S pis i L‘!":
i T M = (A) Varanasi (B) Pry .
(A) s Fasaaig, 0| (© Lk () Ayodiys
BRI wry 80, FrfafE 39 o :
(B) Araerrer syga e T v 4y
(C) el Frardy R (A) THESE () s
(D) Afercfior o (C) FEEHTE (D) s gy
Who is the author of the Hing; Which of the following {s yhe y;
language’s one of the most popular Military Award in Indjz 2 ey

compositions "Madhushala' 7
{A) Harivansh Rai Bachchan
(B} Makhanlal Chaturvedj
(C) Suryakant Tripathi ‘Nirafa’
(D) Maithili Sharan Gupt

(A) Paramvir Chakra
(B) Vir Chakra

(C) Mahavir Chakra
(D) Ashok Chakra

Bl "awm  WRERE w4

Prerferen 3 2 e oot 3 e ffosessport Seva) ¥R ¥ A 4
;?;ﬁ#.ﬁwﬁzozswmzj:m?: (A).I“mg?mﬁ"ﬁ‘
2 2
(A) FEER I (B) fave v © tewar
(C) FedtagmE (D) dfza wmt (D) Te e

the following cricketer has won

0 ¢ The mobile application mPassport Seva
Awards 2023 for outstanding

has been launched by which of the
following ministries of India 7
(A) Minisiry of Home Affairs
(B) Ministry of Ciyil Aviation
(C) Ministry of External Affairs
(D) Ministry of Tourism

-
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B3.

BE.

86,
ke
87,

B9,

T g e A

%mﬁa%-mmmmm \Dn. ":fv&:-qmﬁa\qgwh
Bl Cmme | ST S
: () wd 9L ¥
() =TT - wm*‘lhmmwwiah
# ‘el = W BB v e
SRR Owim o
) el (m) A 92. it a
;gm b N ik —
= (&) ¥
i s ' ] (B) W=
womnThiee) Oy 20,
e (B) =m 9T 0, R e T
& ) S e T ,
v frmds vy Bam ' % | o
e
T 3198 1 =T i | 1C) T e
(A) TRI— (B) BfFEm —wm (D) 79 S,
(c) wm-fETm ) wE-fifEm g, ST W w- ey v
A 2 e A ER ®) T
ﬁﬂﬁi‘?j’ K © a3 (D) ey o

(A) ﬁﬂ@ﬁmk%@mm 95, = i & o wwah w A

Le-chaidl A A &2 _
() s (m) Aot
(B) o8 7= &9 AN 91 W | )
(C) e o =ik gt T e | ©) fmmte () St

(D) & T A o A ud (96, T T e g k¢ gmammd

% = R v R
(&) T famm

Fr=faigs 3 % e e 8 9t 1= (B) whwErE S

e E 2 (C) FremaTe faim

(A) Bife, 78 (B) oy, (D) T famm

¢) 7, o, e 97,
A gl e A | e e e w1

rapaaan e T T £

A

17

Bt B e o R

(A) T (@) S
(A) T (B) T (C) T (D) s B
(©) T Dl 98, P i v R R )
Fefifen § 3 oA H A W | () S Rem |
L _ (8) RmfER ARATOR |
(A) B (B) o3 (€) T wEm TR
©®-Tm (D) T bbb bl

El-1




Simple iny,

cres
(4) 7475 s

(©) 7425

aag

nths, Vi

ﬂe.r!m
s (B4 )2
128, §1es 3 174t 71y 3 97 T W=

SHH e

3 = T | |7et il 3
FH1 SitET i | i

Mohan makes o
17* inning ap

average by 3. Find his average aner 1o
1nm 2,
7. (A)33 @49 () s)

361205 3
# | I

30 men can

g work 7

fe/days  (B) 2073 feitdays

O ST U 7 7 16 fisit i g sy

T Y& FH

3R et F9% aY
ST e e 2 e 2

complete a work in 16 days,

after they started working, 15

men joined them.
now take

. A~f“"3"'-3'|31‘?"?fﬂih'-‘&msz
1.2 TE Wil disepy 'f‘T‘Err
d 3 Vears ar Ty, ko
(B) T375
D) T35 ‘
B H ¥ 76000 = Fram
= W, fads 57,000 %
34,
S Y g b
i
od'T 7_6,00[._! in & bu:g::ss.
X vek joined him with

(A} 48 Hdiie,
(C) 4 Bifiycy
132,

A man walkj
Crostes x bridge i 120 07 9 ks

Ly
length of the hf(sd‘;:?h-x mtﬁl‘:‘;\rsﬁ

(A) 2450 B
() 2250 s
87 H 4 e
terms sn_.'req thers ha:u.i:_
; !B)‘Zlbwtg_') 27 (D)2
#1343 laa:ml%mwmﬁ;ﬁ,
7 D i
crage after 17" [Q. Nos, 134 to 138 -

Smdy the
answer the following qne,;r.iuns Enb!e g
(D) 47 PRI G R e S —
&I HEr
Number of products sold by §
Q:?’l:!rl g: g‘;: compunies du ;

ring 5 months
T Monih ’ FUFYCompany
PlglRm

S|T
T W anuary | 130/[ 80 [ 155 [ 85 | 75

W&{l/February | 155 | 110 ] 88 [110] 9
HT/March 180 | 130 | 115 | 100 | 120
s/ April 160 | 145 [ 240 [ 140 165
EMay | 140 [ 120|130 | 100] 1635
34, T A W @ w0 S TW AR W
I S s § e e s

W many months did
mess 7
{C) 5

N g7 Tw

Score of 97 rung in th
d  thus e

How many diys
iplete the

)
smber  of pcrs sold by
m 1§ ap;md%y huﬁd by
what percent from January (v Ap:
N g (B) 64.71%

135, e & %Al S| AT gn A ()

136.

138, A, e S A frerw s T w0

s rai
s e i
T e

N~

el !‘ra:ﬂﬁ?jﬁ i

in S ey e pecple

39, HHE FT S i
T
Study the dj

e <t Sitem N =R (E
What is the average |\_||mbcll' of pr?du:u
sald by company “P'. ‘S’ and T
February ? (Approximate)
[A) 120 (B) 116
(Cy 118 Dy 12
-
i @ e P SR T A e -
B e A B A R I [Aetasy N RTEHE
0 T R T A TR | a0, B v el A
What is the matio of the total number of =5 wm?'ﬂh‘x'ﬂm&ﬁn o
prodycts sold by company ‘P* and R in ?f;'m‘uﬁi;;r Ci=h

=4 ok Arvisioa, 3! i
March to the toml mmr‘hﬂi:s l:;;::]d:m ‘:‘n‘;“.'“!i:,’;;“""';‘w“ﬂ'f"g 2 -mﬁu:‘

Jd by the sama companies 1 B e

:;}:;:w (B) 40:55
(C) 16:19 D) 12:17

f&%ﬂx!}*;?—h‘?
10 (BYIT Oyer  (yas
141, TR Fael 85 s () o
gt
Hhe correct minme § o i
B ) rom gt e o Ahemacs.

QAL

What 1& the difference between the total - :
number of products sold by company *Q' a“t: J ) (‘é? 3 3 DFI.
Jan and May together and the total M) (BHD) ©0 Oy
:uud:cuzpmdum sold by company ‘B {142, TrafafEs v os =2, o o,
nths together ? = =T e e §, Bt A v e,
e 2 5 8] ) T ) AR
(4) 102 (852 BimTRE | ¥
[C) 98 ) 76 In the th]lnwmlg question, one word s
jven, followed by four words, one of
whieh cun be [ormed ucing the Yetiers of
tre given word, Find thet word.
ENVIRONMENT v
(A) ENTERTAIN (B) EMINENT
(C) ENTRANCE (D) MOVEMENT
143, %0 3 o = W = o A =
W v e S A b
Choose: the Veon di which hest
explains the relstionship among given |
Bov, Athletes, Students

A) 5 &®
(©) @ o @

T e T e R ATV

E}2

o H A °, 32% TR
D o et b
H T B AR T AR S I
gﬁ(ﬁmm!ﬁ‘!

Qut of the tom] number of products sold
by company ‘T in March, April and
May together, 32% were made of mild
stzel. What was the total nimber of mild
steel products sold by company ‘T i
March, April and May together 7

(A) 160 (®) 130

(C) 155 D14




werem B FRT & ME0E 64 30 B9 (1) % |48,
b

wen Feferf # # F9 T9T W oW gda
@ 2
(A) TTESTT (B) Fwmwafy
(C) &% 5491 % 5w (D) TR
Who among the following is exr-officio
Chairman of the Council of States under
Article 64 and 89 (1) of the Constitution
of India 7
(A} President
{B} Viee-President
(C) Speaker af Lower | Jouse
(D) Prime Ministcr
Freafafem 4 @ %% @ g v Ty
I femw” & w9 F gy A
(4) 31 fewe (B) 12 57al
(C) 25 Fa=w (D) 16 3
Which of the following days is
celebrated as “National Youth Day™ in
India ?
fA) 31" December (B) 12" January
(C) 25" November (D) 16" August
46. foferfas 1§ @ w57 @ s o 9 e
a1 g 2
(A) siwdfes ane (B) wfves are
(C) fafgm s (D) Uefifess 3
Which of the following acids is present
in Vincgar 7 , :
(A) Oxalic Acid  (B) Lm:tllr: Am.d
(C) Citric Acid (D) Acetie Acid
“mrgef S T G (2 M8 HE =i
o) Frefefan 1§ & frm vfivg sies @
feve 3= £ i
(4) st ot (B) wefwT Pt
( (D) ¥eafa 74
1 ‘of Small Things" is the nn_\.rel
by which of the following
uthor 7

Bt it o farey T &
Pty ey Wﬁz‘ﬁﬁmq:f :
® Aom A w e T
Sl 3 i =T Sty 3y
Py a5 "N
{A) TH ey
(B) B0 darery
[y qw-:nhrwm—_wiimm
(DY) 58T iy oy Tt
Which of the ro'.znm.-.g
having responsibifity ,.F““"s‘“'“
dusemmming P
Bovernmment =1 o
‘?nr:é:_jnn!mus . b 'IJ"W:“
ms of mags eared
regulation of prip mEEETum“"D“ :‘rll
{A) Ministry o Home Alfairy
(B) Ministry of Plannjn,
(C) Minisiry gy 1t
Bl'u.!ﬁc-'lslm.g
(D) Minisiry  of Housig
fra.lrg l‘u‘l.\“ ingd L;”g
g mm T Rtm g il
(A) Ho (B) 7 !
(C) % Feesdt (D)
The National Institute of -\"imlu--
situated at which of the followingp,
(A) Mysuru (B) Pune :
(C) New Delhi (D} Bengalyy
W A a‘rﬂ_m\ I wm E
SR e S e T

What is the emergency tol] free e
number for Child Protection and Welfyr

in India ?

(A) 194 (B) 1098 @
(©) 114 (D) 1910
gl 7 e P iR
I 3eg 1 7

(A) T (B) TR

(C) FAleH (D) sifEm .
“Hampi Dance Utsay" i uli:muil
which of the following staies | -
(A) Gujarat (B) Mahars

D) Odisha =
(C) Kamataks_ _ (©) O e

]

T ion

e

© 5 et &, g i B

HrET W A W T S oy et o |55,

{A) FEEAC () T
(C) T EE (D) SRR T
A; account of Government that relatas 1o
the curent financial year only |s
includad !Fll! :PI\G

(A] Tax Budget

(B) Revenue Budget

(C) Capital Budgat

(D) Outerossed Budget ‘
g s e w2 o o e 8 e e o |57
Femret ! sl mE g £
(A) =1E (B) i
(C) Fum (D T/
Colossal satues of which rulers- have
been found installed in o shrine a1 Mar
near Mathura T
(A) Cholas
(C) Kushanas

(B) Muouryas
(D) Guptas

Frfefion & & s & Fon e W
TN TS T 3 s 8 i e R
(A} T (B) ==
(€) W (D) 5§
Which of the fullowing port of Indi is
also known as 'Queen of the Arabian
Sea' ?
{A) Kolkata
() Mormugao

= 2011 3 s e e e

B B e o

(A) 1 LT

(C) i (D) u;

The Census Operations in India have
been camizd out tn how many phises in
the year 2011 9
(A) Four
(€Y Three

(B} Kochi
(1) Murmbai

(B) Two
(D) Cne

Frerfiaftam % & o amrerm 3 it wve it 'h‘naﬁrﬁ:rﬂ_ﬁﬁ"ﬁrﬁ';'ﬁ\]wﬂ'aﬁ

% A W w0 fare e e g
(A)FEAET (@) e

{C) AEThR (D) =iA 3w
Which of the following  Viceroys had
partitioned Bengal during the British Rule 7
(A) Lord Reading (B) Lord Corzon
(C} Lord [rwin (1)) Warren Hastings
Frerferferm 8 w1 377 v 1o & e
e =t gferm i £

) e (afr -t
) mmﬁsfh'n HTgE)
(D) reiet cqfess wqfae)
Which of the following s the highest—
ranking Police Officer in the State of
Uttar Pradesh 7
(A) DCP (Deputy  Commissioner of

Palice)
(B) PSI(Police Sub Inspector)

e
et <11 2, Frepfiftan 9 & fem 2 6 fa

#

(A) 9@ (B) unide

(C) Wit (1) T

The Mogad Caves, also known as “Caves
of the Thousand Buddhas”, are situsted in
which of the Tollowing countrigs 7

{A) China (H) Thailand

(C) India ([¥) Mepal

59, ST S % o aie, g s
T8 aHI et | @ el am R s

AR

(A) TifFmm (B) T

(€) Tt (D) Hlime=n
Growing vegetables, fiowers and fruits
for commercial vse is known as which of
the following 7

(C) ACP (Assistant Commissianer of
Police)
(D) DGP (Director Gergral of Police)

(A) Horticulture
© Vitiowlture

13




I 2
fi fmm ey

T :
Bt | R—mﬂ%'ﬁﬂ'?‘ﬁRr

TLHHTH

Ty = S
Aty e g sy
= e e [ 1 B
— SRS & |
H r:‘;’{é;w ST W e &
BT | e e e
51 T STISEE W Ha B o ne
B S i 3 0
Mr. Tank aticnded a conference in the
City and took a cab back to his hotel.
However, in the rush, he left his
briefcase in the 1axi. Fortunately, he
managed 10 note down some details
sbout the taxi's license plate with the
help of a nearby sccurity gurd,
#1: Mr. Tank {5 certzin that the plate
starts with the letter M.

#2: Three bystanders agrec that the plite
ends with 78R,

#3.: Four people claim tha the second
letter is either A or B, and another
four people think that the third letter
is 8

The four license plate numbers below
represent what each person thinks they
saw. Which one is most likely the license
plate number of the taxi ?

\(A) MAB7SR  (B) MBATSR
MSB78R (D) MAST78R

e caf wf e
R =y e
fnd |
T -
I wf faenfes 3 3
37 | Wy,
1 %o fa =
el il Tﬁ““’"am

(A) AAN v\??ﬂllarim;ﬁmi
(B) Faa fremi W"T"ﬁ‘iil l
() 1 30 A S g
(D) e e | S
In the question below, ,
followed by tWo conelusione i Bk
Iand I s given. You haye g, %
everything in the staleme 1 h-.al
then consider the two CIH\,,,_,"
together and decide which .
logically follows heyond g g =
doubt from the information gye ”"
suterent.
Statement : 1T all players play by 4o
full potential, we wil I
match, We have won the pyg i

Conclusions ;
I, All players played to their fill s

1. Some players did not play iste
full potential.

(A Neither Inor IT follows.
(B) Only canclusion IT follows.
(C) Both I and I fellow.

(D) Only conclusion I follos.

ik hind

s g 2 v e, i el a2 5

2 mmlgﬂﬂ; AN,
w1 @ A
{1, @n BLE

i A figres (1 {2),3)
rmed from the pleces

[Ea R
(B) (2]
(1248

vt T 824 A R ST |
2 amongst  the four
o o o he pariern would
sppear when the transpdrent sheet s
folded at the doted Jine. !
1 JEK J(B K ]
X} (L 2} 3) )
(4) (4) (B) (2)
) (3 @) (1
M, PR | Q, O dift & 5 P A
AImw OF T EEE R
(8) Fm (B) 5=t
(C) wl (1))
M s the son of P. Q 15 the prand
daughter of 0 who is the husband of P.
How is M related 100 7
{A) Father (B} Daughier
(%) Mother (D) Son
5 e 55 5 fen e o
A = e 6 |
Chiose the altemative which closely
resembles the mirror image of the given
combination,
JUDGEMENT
(A) LOgDamarT
) TWAMA DA UL
(€) THAMIGAUL

(D) TNEMEGDUJ

=8 s A A E
Chooss the figure which is differsnt from
the rest,

(3)

[ (o W k] (i M B
o e 1 300 78 B it s T A 10
=g 1 20 AT E | gEE g R
=
A book has 300 pages and each page has
20 lines of 10 words =ach. How many
words are there in the book altogether 7
(A) 600D (B) 6000
(©) 600000 (1) 60000
it & aniEe & v ik o anh 2
Feih ST 0§ 30 s E AR
=l ot & T 240 30w R, @R
SR s R
A third of Arvind's marks in
Mathematics exceeds a half of his marks
in English by 30, If he got 240 marks in
the two subjects together, how many
marks did he get in English 7
(A) 90 (B) 120
() 60 (D) 180
Fefefien & & o faweg 53 faw, o,
e 0 A A
1. = 2. EEw
i FEmfemn 4 fem
5. T
Which of the following option would be
meaningfisl order of the following words 7
1. Doctor 2. Fever
3. Prescribe 4. Diagnose
5. Medicine
(A) 2,1,4,3,%
(€) 2,4,3,5,1

w a8 e

- -

(B) 2,3,5,4,1
P} 2,1,3,4,5
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(A] Tt T ’f’:frﬁ-mg,
ﬁr_—x__ahg“_r

(U1 Plays a

'-f’;:;:ﬂc_ml a_q.:i&mn:]:

ol ;:-I_tsnnt_‘:h:: ﬁ)llomng ?

Al . s (] i

{c) !%ducutiun [Ig: :‘mhhczm
Agriculture

(B) s
b (D) FraTrg i
f;wa!nc!::uscllom Park ::II' Uttar
ollow j:;.!smﬂs s . which of the
e Anpur: (B) Pray;
) i\-‘l'l:erl_:t (D) Lul]?hzliﬁ:iu Kheri
o ST w5y
TR Sz Ry o s geer T
I i 4 v e e
{r‘_n AR HEE (B AT o
E:,),ﬂﬂmfmmtm (D)mraTiwR e
il -0&16! the nemenclature was changed
Humunmﬁgh t:.la;nz-s Commission  on
which of the faifownm;?wss joian
(A) Humanitarian Commission
{L‘f) Humanitarian Council
C) Human Rights Commission
D} Hume_zn ilhghts Couneil
I W2 HY Ae” w5 3w e A
= T T HATET e 2

S5 % vy
W s
R v g w:"mn-_-.\_

P 3 s M
w-ﬁ'[m it ifﬁ.:‘nw' L
(A) STt e vy it
(B} Hotam= v
(€} #emm B
(D) M s
Which of the followi

W iny
the aperation I:un:hcdgl:: :Tc
cvacuate Indian nationa| r," India |
Hamis conflict zone 2 o iy,
{A) Operation Hat Prasuit
(B} Operation Ganga
(C) Operation Vijoy
(B} Operation Ajay

&
0|
L

65, T W H SRET 2003 F, g aa

66,

T 2 A A 3t i
AR (ETCA) e e e
5 TERtds
[A) #TomT (B) =
(C) &1 (D) uradig
Recently in October 2023 (ng;,
which  neighbouring  country ;”
re-launched  negotiations ¢ a:‘:
Economic and Technology © ol
Agreement (ETCA) 7 i o)
(A) SriLanka (B) Myanmar
(C) China (D) Maldives

AT (NIA) %135 59 i | E
(A) T SRR

(B) 7 F T T

(©) AT

(D) et SR v

Give full form of NIA.

(A) National Investigation Agency

(B) Naval Investigation Agency
(C) New Investigation Agency
(D) National Incubation Agency

i e BT AN A ST e g

i

2 el o wh g0i6 & Al &
s wte 3 |10 S w8t
i () & Bmwnos (B) ], ofn R
() s T (D) o, e A .
Who was: the RBI (Reseris T-\nn_h o
Tndin) governicr during demonetisation 1M
the year 201617
(A) Dr. D), Subbarac
(B) Dr. Urit Putel
() Shri Shaktikam Das
(D) Dir. Raghuram Rajan
e e, e T vl &

{ District,
g :f{:;‘&““ﬂ?ch vark in
desh B e Ranking of ABP i1

Fmh?

(A) 7 T 5
(C) 48T % W
in Uttar Pradesh, for e

firiancial Froud what 1 the time

{ndivituals to make the complaint
Cybercrime Helpline Mumber T
(AY Within 7 days
{B) Within 24 hours

(€) Within 48 hours
(D) Within 2 hours
Ffa i TR T w fem R AR
s s (o e R T
In  which year GST  laws  wert
implemented that replaging A complex
weh of Ceniral and Stute taxes T
(A) 2019 By 2015

Recently, (€ 2021 (D) 2017
ercome the challenge of
et spes adwesp by |73, famm 2024 % fo T i 6 wEET
EL

i 3 in Laksh
?ﬂwﬂ?“l‘:;"m‘hﬁ 7 Lakhadw 1 st 2024 Hywn MTER Y
Tslands  Subm & o (B =5
(C) FEE (D) A
Which eountry's chairmanship has begun

Connestion  Project
announeed during the

from January 14,2024 for BRICS 202417
(A) lran (B) Russia

(€) Brazil (D) India

(B) 24T
(D) 223

porting online
frame for
on

Arport A
(B) Rg:Dashnﬂﬂnkm_mumd Airport
[{e:] Maharishi Vabmiki Internativnal
Adrpart i

rl:-R.am |niemmational Alrport

(D) Siy
# gymEd T EEE
THIFHT

Ta.

the Prime Minister

Independence Day
specch ot Red Fort in 2020,
(A} Thiravananthapuram
() Kochi
(€) Thrissur
(D) Gon (Panaji)
E}-2
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FIH B, e | 'FIHT:%. 50
¥ =iafe Pl 7 2 ft g
0 SR 5] SR e i P
S B R | S e # B 7

HIET e s o i1 | S

(A) 78 i = s = st

AT ¥ ¥ we sk st
1w e |
(B) St w1 s steard sHae & =1
= Hiwr = =i 3w A TEw
T AT o) Tefie e i |

(©) B5el s 5= 7 amge A
T & forw 1w () SR
HYH] 1 I A TR |

(D) wrim @ fae wen =i i
e faws gl # s 0 6
LiuE st il

You are a senior inspector in-charge of a

police station in a metropalitan city, You

|

wfam o &
ATet AR I‘mf\uﬂ?

(A) ST T s
T TR |
(B) T 3T ey
L M gy B
(€) ITHIA & Ho g
worfifes =y é‘;‘lq,‘,?;f“"“ :ﬂ&
(D) B % o o ;‘;u
SRR Y A -
Midway through z ES::‘?E
against arganized Crime T‘P"-t
leam vour spouse i 4 il
advanced stage cancer You gy
(A) conceal persona nm:ha..g,
till operation €OMpleteq g 4y
(B) continue  singyiar &
family handles "m,m‘:
(C) strategically d”_“ﬁ-
planning areas Dr“]“trnicn L
(D) temporarily  defer
leadership o Take care %
=" f&vf’re w‘a.aﬁ T 5 e

e

have been working hard to mai . law
and order and prevent crimes in your
area. However, due (o some
administrative  reasons, you fOre
transferred 1o o traffic pelice unit where
you have to manage the traffic flow and
enforce the rules, You feel that this is a
waste of your skills and experience. You
should :

(A) adapt to the new role and leam II'-n:
skills and challenges of traffic
management.

(B) accept the transfer as a temporary
setback and hope to get a better
posting soon.

(C) use your influence and contacts to‘ gel
a fi bl fer to-another unit.

(D) protest against the transfe
demand to be reinstated in. your

and

previous role.

F T GERIEE B G
e ST S
(A) 7% T 3 T o g
(B) ¥ HIEwR F AT H sy

i FEenre # w1 sl iy
(€) TE-Rfe e W Ty
# et T e Rl d

=i |
() St e & 9 sty
T TE BE S S A
When examining @ bombed el
you find a damaped mobile phan s
Lised as timed detonstor. You shuk:
(A) first dismantle parts Tike SO
" and battery for _snps:.l;g:v:g
lace it inside fthicx ¢
gy gnslm'ng nﬁ furt qrbl:]sldlg:
hot prigimal &
ey it?g: fore handling 155
static gloves. .
(D) wrep Bt in. g 558
fingerprints distTo =

-
e
e 1

a=Tn

A

. v ufen s & = #. o s fesn (1

& diiga Reeh ufien 9 fRRE w1
A | s ' |
(A) frqrir geei =1 g Bl
TR AR i e = |
(B) 5 ufeen 2w Sf @ s <t
it =T : -
(C) ¥R 3y o e, 7 A HITE
A s A1 ol
(D) W w1 G =0
difa v &9 3 GEEE 6
=iET | :
3 a police officer, You respand 1o }
complant  from o Woman wvictim, o
domestic violence, Youshould s
(A] ‘refer 10 protegtion officers mInimZING
departmenial interference. A

(B) have a womien's cell representitive
to conduct initial discnssions,

{CY treat this similarly 10 other reported
ussnll cases, i

(D) personally interview the victim' 10
gather case details:

w5 i @R W OEW OH, SIS

ST R s ST

eI ) SIRIT I ER fE @ A

] G R | HTR g i

(A} mmrafien wEiie = e S Ew
Fafeere = =0, F1 SR |

(B) iR i S T 51 HE
e e i ] ZiTen e =en |

(L) FA= FEE = FAEe % A

(D) Porefers mman =1 T & e fmo
TR 1 &g T |

As u police officer, you face profests

alleging profiling biss sgainst 3 minority

community. You should :

(A) Impleément diversity quotes in feld
force ta showease inclusivenzss.

(B) acknowledge concerns by reviewing
statistical arrest data trends,

(C), organize commumity discussions to
moeds implementation gaps.

(D) enhance surveillance measures 1o
prevent subyetsive threats.

= 3 & e T
umﬂ&ﬂ‘im i
Fefiapen @ 10
o el T

7. ww e

o Y S
2 | v Iﬁ‘ﬂﬁm“z“
et A B A= A

:?A?\ ar famit ® A ferit
; T (10} fs
s :ﬁ;.ﬁrnmm. you are required 10
wear 1 rank insignia on YOur visform.
Which of the following s the eorrect
wank insignia for o Sub-Inspestor in the
Indian Polics Serviee ?
(A) Four stars (B) Two stars
(€) Three stars () ‘3"_5_ star
18, T sy & 9 A, W _AE
il !
s e § | Ranie S ST,
s W T S TR RV 7
(A) TewT & fere Eesmmnl % 0
(B) #2 sayaw @ W fafecen A
ST & |
(C) & ofifn =) i = S oA |
(D) AT T S &) PR e
As o police officer, you use tear gas on &
vinlent mob after sdequate warnings, As
per guidelines, after dispersal which of
these steps would be incorrect 7
(&) Videograph for identification.
(B) Provide medical ald if required.
(€} Allow media entry into the area
(D) Axrest those lefi behind at scene.

19, s fem sl % w0 4, W gw 5| 3
T I F AR R

(A) S0 T FaT = A |

(B) il 1 95 %1 3e |

(C) AT R T EE @R |

(D) 75 =es 30 AR 2= FEE |
As a police officer, the primary reason
1 chose this profission is ;

(A) The opportunity 1o serve the nation.
(B) The excitement of catching criminal
(C) The job security it offers.

(1) The power and authonty it provides,

EJ2
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fraert 5w # f B3 1 w‘“wmm‘;iﬁiww
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u)mﬁm%mmﬁiﬁ
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A s e 5 !
W @ g 0 F S
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(A) ST 9 T8 5 oy
L] s )

5 11 99 W
> e & (B) wreafi = [‘:rwwf;%
ﬂe"aﬂl' HEFTH e W) Wy
. A afrw wrfs W i | ’Tﬂzih’a
s & 3 (C) T g 3
i ] WAy | s wy ",
(15 }] q .
( mﬂi‘mqm_rmlmﬂ_ ok
Vou “muﬂ.!“jﬁl‘”' i, (D) A awé v WA S
: stationed s 5 ] ! :
Pl s el lice officer; 10
Bl ouss sl | Yo e ol R LSS
: O :
the officer in-churge, z:; ﬂnufﬁ_“’* n u:-:a;&ﬂ.lm:pllﬂ!d‘;?lm?::md s
0 g ; ::uu:h!e;asweg‘uml decoys
(B) htercept phone calls of detained
traffickers [or keads
(C) unaiyss CCTV fesds around Jabanr
LH roam entry and exits
{D) imposc restrictions Om ¥isiors 0
mntcrnity wards
10, 39 7 e it % ¥ & A
orfifs ¥ & wTE yos A &) WES
= § foew fom s = W
SRR B & | ST
1uaia) o & awE i Faws Rl
wof =i )

L 20 s
TR :

i | 3
() g T ey S L ST
HTHEHET

Ferger w1 S, |
=~ ; (By Sl 3 s frw it W

=i |

(©) Fm = e e A o
T = frtgl 1w ) i |

(D) W@ =9 A few P ¥ A AR &
T 96 T AT IR |

S gaa“"“fﬂt I
® mn”&mm.

(A) ite foree §f ne

! P | troub],

N  troublemakers
Her SR | (B] arrest instigators withoys

disrupting public order. “m"‘h

(D - i
) S 3 s o e O e ion st lesden

) impase Section 144 1, Iy
gutherings immediate|y, = gy
B W 0E 9w st § ey H 4
I T 10 ol Wl o e
i 70 e 2 ¥ ey 3, g1
m%a}gﬂﬁ W] - i)
(A) Il g2
;gﬂmmfnl mm%
(B) 38 AT i sy
=Ry | LGt

(C

Abhishek  Ragh

cultivable land, He has vhiained
recommendaiion

has . six  acres of
You are an Investigating Officer; a riot

accused political leader requests charges
be dropped offering & promotion. You
should ©

letter  from  the

Panchayat Praghan. He doesn't have any

id loan  from the bank. He grows
(A) horass  key wimesses iestfying

(4
W craps in pis entire land. He can
against the accused leader

Produce collateral more than ¥ 6 lakhs,

(A) Daa inadeguate

(B) Advance to be granted,

(C) Case 10 pe referred 10 General

Manager of the bank.

(D) Advance not 10 be granted.

(C) 0% mrr-famr = snfive o

e e

D) =y §
1 T | Ermwwh‘

You are stationed as a police officer; yy
notice a 10 year old child heaging 1
huss_f Llersection. As per India's By,
Justice Laws; you should :
(A) provide counselling and e
Wwarnings,
(B) take him to & government juved
shelter home.
(C) inform his parents fo take cusiody
(D) arvest and detain him at the poie
station.

]

*
IR %mmmm
e § A e e st e |
You are stutioned as a palice officer; riots
erupt m & religiously sensitive. locality
fequining reinforcement. Y ou should -
(A) conduct preventive arrests of past
troublemakers.
(B} fire tear gas shells to foreibly disrupt
violent mohs:
(C) work with community elders to
appeal for peace and calm,
(D) order lathi charge if groups pelt
stones violating restrictions,

(B} conduct an impartial investigation as
per procedures
(C) delete any evidence damaging to the
leader from records
(D) pretend to give in to the threats afler
secretly taking the bribe
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Arguments :
L No. The needy students will be [(€) be able to produce a recommendation lenes

11,

(A) Only IT and I'V are strong,

i : oy L
Zh LG 7, = L v g 13 3
HUH AR Ty oy M e 2 b Figfed .
ok ) i TE < plaen B 10
TR B/ D T A [P 3 A o v e
e l:? s A Wiy B 4 i .Imroﬂh”-'Jﬁ-!}-w ‘{\’;:;E: %
£ B L TR 3. ip | T g T - Ei
W*Tt“.?m;am e ¥ 9 for my |'mr=_ O S 0 e 4 é!"u
T HH o f"&ﬁrr . 18) 98 50 3 50 7o e e i
ﬁ“"“?‘mﬁ:afmm. &l f [““‘ ﬁwwumaﬁmﬁasw.ﬁ?“&.
s : 1 =fam o (:l .ra:t,_:mgsmksu#ﬁmnm,ﬂﬁjrwﬂ,
i R 1) 1 &% 3 %0 o s o) sy
attreres & e BE W fim) (e) T ) & v s 1 =iy
0o o SR |t e I,

T A ST SR 5 g

I W (o) §, PRF ufh & g e u":‘“_
HTUH FEE P H A A e et
ey Wi TR *

\ i I 0 (d) 8, #fes & & f wmdmy

il R, A o ey
V. ?Kwﬁﬁ:nm."wémwm ﬁ&nnmm;?ﬁﬂa:;;nh
(A) 5 11 39 1V v 2 | 4 7 A | S 54 7 9 e ) o
(B) #=w 111 777 4 | F FEUEGEE e R s s g o
(C) et 11 i v | T S 2 & St R 1 8 5 g
(D) F9= [V Fm # | ?-ﬁmmm‘rmmﬁa:mﬁfmiam
Question given below consists of a w;mwmmmtlimmmm
B followed by four 'ar e, 2005 = Rl & seEm e # |

numbered I, II, 11 and TV. You have to | Nox 2 o 6 : Sy the fullawing information
decide which. of the ar BaHEY i carefully and answer the questions given below ;
C - gument(s) is/are F x sl 2
Jswong’ argument(s) and which isfars t&m‘ﬁmﬁ‘, e aing advance frt 1)
weak” argument(s) and accordingly Thi Farer m‘m‘? ikl Rk
choose your answer from the alternatives | () have at least five acres of cultivable land
given below the guestion ; {b) be able to produce collateral of ot least ¥ § lakhs
Statement : Should all the school ((c) not be more than S0 years ald a5 on 1" Decernber,
teachers be debarred from giving 2005,
private tuitions ? (d) nul]:m\': any outstanding unpaid loun from (ke
ans.

deprived of the eéxpertise of these
teachers.

Yes. This is an injustice to the
unemployed educated people who

from the Panchayat Pradhan,
In the tase of farmer who satisfies all other crilenia, except
[ at (a) sbove, but is ahle to cultivate more tha
ane crop in cuch piece of land, the case is o i
referred to Chairman of the bank.

can earn their living by giving |11 at (d) above, but has fixed deposits of at lest
tuitions. ¥ 4 lakhs with the bank, the case is to be
Yes. Only then the quality of | referred io the General Manager of the bank

In each question below, detailed information of enz
farmer is given. You have to carefully etudy (ks
information provided in each case and take one of ihe
following courses of actions based on the informatice
and conditions given above, You are not to ssuse

teaching in schools will improve.
Yes. Now salary of these teachers is
reasonable.

» s ) M
111 is stron anything other than the information prﬂ\:1ded incach

Only IT and IHafe strong. qu:y?ﬁnn. All these cases are given to you 85 00 |
y IV is strong. December, 2005, i

2
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ﬁrzﬁ?““ms-ﬁﬂ 1956 %1 g L |4
hvmwmaw.ﬁm w3
L | = o o 3 e g AR
T =ief am ey e qE@ R |
T Sl & v A ¢ 6 A e 0
::;frhwwwﬁﬁmﬂ{ﬂm]
R

AT B x|

(B} e o &5 spengen w1 S ATET |

{C) Bon s 35 3yery w1 = |

(D) it ] e o e |

Digvlisy was born-on §% November, |

1956. He has chiaincd a recommeéndation

letier from the Panchayst Pradhan. He

s fur acres of cultivable land with two

“rops. in cach picce of land. He can

pledge ¥ 4 lakhs as collateral. He has no

outstanding loen from the bank.

LA) Diata madequate

(B} Case 10 he referred to the General

 Muanager of the bank:

[€) Case 1o he referned 1o dhe Chairman
of the bank.

(D) Advance not to be granted.

;1: ST W & N R 9E I

R 1 59 T AT s e i

WMhwm €5 e W A e §

T T 4 A, 1955 HLH AN T Q@

&% =% wamn (3o TR |

(A) i s Fowmn e |

(B) T S o W T |

(C) wem fomn w2 foim 7R & T
i AR )

(D) 3rfirm =7l e e s |

Raman his obtained 3 recommendation

letier from the Panchaynt Pradhan, He

has seven acres of cultivable land and

can produce collateral of T 8 lakhs, He

was bom on 4" July, 1955. He doesn’t

have any vutstanding Joan from the bank.

(A) Advance is 1o be granted.

{B) Case is 10 be referred 10 the General
Munager of the bank

(C) Data provided is not adequate to

4 decision.
(D) Advance isnot to be granted,

\

» |
-
Fchm;.xﬂf‘:[f‘- 1957 et

o e T 4 0 e
3 }mwﬂuﬂﬁmmr 8
) 7 6 7T 5w - T
B LAl e )

v 4 stz () B A

(A) Tz siE R |

xS 3 v T o e |
(& T “m “:"‘m )
%’Aﬂﬁ o bom on $° June, 1957,
He has obmined & recomsmendation st
from the Pancheyst Pradhan. He has mine
acres of culivable land and can POCE
coliateral of 2 & lakhs in addition to his
fived deposit of T 6 lakhs. He has an
outstanding loan of T 4 lakhs.
(A) Data inadequate A
{8) Case 10 be referred to Chairmin of
the bank.
(C] Case to be teferred to Geneml
Manager of the bank.
(D) Advance not to be granted.
firits T/ 1 TR 3 WA, 1956 W 13:1
W | 3 TE UE W i e R
i 95 R | =R ¢ 10 #6E B i
= AT R FEa | S i
A (o) TE R |
(A) g e & sy w1 e W |
(B Sftre e e wmem |
(C) e & T R e |
(D) i = s A |
Vinod Rai was bom om 3" F s
1956, He has six geres of cultivable land.
He has bmitted 4 fation
letter issued by the Panchayat Pradhan.
He can pledge collateral more than T 10
lakhs. He doesn't have any unpaid loan
from the taink.
(A) Casz to be referred to Chairman of
. the benk.
(B) Advance 1o be grantad,
(C) Cuse 10 be referred to General
Manzger of the bank.
(D) Advance not to be granted.

E)2
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In the fall e
e piven OWINg question, kome words

feany, They have scme commtn

L=
Tequiireq :}*;:Il Lhc odd one. You arc
(A) i odd one out,

€ Stream

21 fau
3% M forai 3
e gy ﬁ?muﬁﬁmgw:ﬁ

(B} Canal
(D) River

aC!Ion_- the correct alternative from given
nes that will complete the serics
15, 8, 35, 24. 63,48, (7)
(A) 102 (B) 92
(C) 99 (D) 88
22, o fAfFaa 52 w4, “Z
WBYAI" % &9 §
S %z § “TORCH'" i &8 fonn =1em 7
::da certain code language, “ZEBRA! is
..Tt;]‘;c as  “WRYAJ', How will
N H" be written in that same code ?
HITY (B) MHRSX
(C) LGIsSx (D) LGRTY

m(ﬁ%meﬁmml
ﬂmﬁ.ﬁm:ﬁ;;ﬁ_m:{?]
(A) =iy (B)
©) 3 (D) T8

Find suitable alternative in place of
question mark (7).

Botany : Plants : ; Entomology : ()
(A) Snakes (B) Plants

MaLE

(C) Insects (D) Birds

e, +F o i B
W g | £, 1 D)
Yul w7 =i,
,,;.ﬁ.@r: TR, ik I'::‘:
(A) ¥ B il
() ru: :Eq
Shecln i1 Ravi's nig.,‘.—_ln_l
Ravi's brother. Ram'y w_‘-w Hayy
Deepa iz Ravi's sister nh:;' Lyt
Shanti, How is Sheela rela “h.}:“
(A} Daughter '“""Sk..;_‘
(B) Daughter-in-laow
(€] Grand daughter
(1) Mother-in:law
[ IR TSKEPTICAL 5 #i
7 ol oA w20
" e
wﬁmaﬁﬁmﬁmmfﬂ:ﬁ;
T ST, AT
1f in the word “SL-EFTIE_';;*-“M
fifth und ninth letters ur I:h.ﬁg;' by
reverse letiers as per Bpppo e
series and second, fourtl ﬂ'\dllmk
letters are changed to their i'm’*'n
Jerters. (as per English u1phal:=|za
then what will be the nevdy fomug |
(AT SMVRGEIAO (B) sl\mmé"‘_'
(C) SMVGRIEAO (D) s,\.;\.,;_mlj
gl B R A
8, o e vl ad S
e B | =€ R E SRy
oy 5 Tt =B R | 9 o s
2 fu fem i 4 7 !
(A) I (B) I
(©) ufvem (D) g
Kabir moves B km from Eas wiy
diraction, then he tums o bis g o
moves 2 km, Again he tums i kg
and moves 3 km. In which directiry
from his staring poit?
(A) North (B) Northhs
(C) West (D) Soufh-Ext

EJ-2

e e STV TR T

i A g
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Which of the following dingrams best:
indicaies  the ~relation between Men,
Teachers, Authors 7

4 @ ®» &
(G (@D @ @

10, -!azﬂ_;uwis;l—lﬂﬁ-ﬁ-i;'.’
591«.:;11+115l—2—2l}+i'x1=':‘
(¢ @22 (€2 (D)3

10, m&ﬁﬁﬂiﬂﬂ‘gﬁltﬁaﬁlﬁﬁ]ﬂ

w2, 7 U A SEEEr )
s e BT
In & line Chetan is 1E® from the top and
15* from the bottom, then what is the
total mumber of candidates in that fine
(W33 (B30 (© 3 (D30
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An accurate clock s'l;t;vml o':dllmk n Ihﬁ
afternondt, Through how many wil
ﬂwlhmzhﬂmwwhmﬁwcm‘mm
 0'clock in the evening on the same day
A} 135% (B) 125° (C) 130° @,120"
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In the following question, & word hns
hoen  EIVET. followed bBY four oiher
words, one of which can e formed using
the letters of the given word. Find that
woned
FANTASTIC ATE
[A) FASTING
() TITANS

By SATELLITE
(1) TASTY
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There is 8 cuboid whose dimensions are
4 x 3 % 3 em The opposite faces of
4 = 3 are col d yellow.
The opposite faces of other dimensions
4 « 3 are coloured red. The opposite

4 4

faces of di 3 x 3 are
green. Mow, the cuboid is cut into small
cubes of side | cm. How many small
cubes will have only two faces coloured 7
[A) 24 (B) 16

{€) 20 D) 12




